BIOLOGY SSC-I1

Time allowed: 2:45 Hours

Total Marks Sections B and C: 53

SECTION — B (Marks 33)

Q.2  Answer the following questions briefly. (11 x 3 = 33) -8 A bl g palide S Y g 0
(i) Enlist different steps of carbon cycle. State Mendel’s law of segregation. Give an example.
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(ii) | How are gases exchanged in leaf? Differentiate between external and internal fertilization
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(iii) :Write any three characteristics of insect pollinated Write the functions of following inner parts of the ear.
flowers. a. Cochlea
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(iv) Whatis the role of lungs in gaseous exchange? Trace the path of nerve impulse in reflex action. 15
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(v {Write osmoregulatory function of kidney. Briefly describe any three sources of variations.
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(vi) iBriefly describe incomplete dominance by giving Give comparison between bone and cartilagff. 15
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(vii) Highlight the importance of biotechnology in any two . 1.5 What is the composition of chromatin material?
fields. + OR S a3 il (S ptie ey S 03
- S O el (S oa lUSE 5l (pe 38 g0 e S 15
(viii) ; Briefly discuss the role of vitamin A in vision. How the processes of glomerulus filtration take place in: 1.5
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(ix) Differentiate between host and a parasite. 1.5 Write three possible actions to control pollution.
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(x) Write the importance of the following in chemical co- The given diagram shows
ordination: dicot seed. Write names
a  Adrenaline and functions of parts A, B
b  Parathormone and C.
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(xi) iDifferentiate between narrow-spectrum and broad- Briefly rationalize parthenogenesis as a type of asexual
spectrum antibiotics. L5 reproduction. Give one example.
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SECTION — C (Marks 20)
Answer the following questions. (4 x5=20) (S ol cll g S GV g 7 43
Q.3 : Describe the pfocess of binary fission in prokaryotes Describe the joint in action with reference to bending
and eukaryotes with diagrams. 25 and straightening of arm. 25
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Q.4 : Write achievement of genetic engineering in Discuss any two major groups of antibiotics.
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Q.5 | What are the causes of air pollution? How can air Differentiate between Haemodialysis and peritoneal
pollution be controlled? 25 dialysis in detail. 25
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Q.6 | What is the role of Skeleton in support and movement? What are the effects of smoking on circulatory system
Explain. 25 and lungs?
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